
Topic 15
The Peanut: an example of self-pollination, and a tie-in to other topics

discussed this semester 



•Arachis hypogaea (Fabaceae or Leguminosae)
•Fabaceae = 3rd largest family of angiosperms (> 18,000 spp.)
•Peanuts atypical for legumes (underground and indehiscent)



Src: FOOD AND AGRICULTURE ORGANIZATION OF THE UNITED NATIONS 

Arachis hypogaea
Native to Brazil
Peanut, groundnut, earthnut, goober(s), pindas, jack nuts, manila nuts, monkey nuts



Arachis hypogaea
Herbaceous
Pinnate leaves
Pedicellate flowers in axils of lower leaves



Arachis hypogaea
N-fixing root nodules



Arachis hypogaea
Calyx: 5 sepals
Corolla: 5 petals
Androecium: Typically 10, here 9 stamens
Gynoecium: 1 carpel with 2-3 ovules



Arachis hypogaea
Fruit produced by selfing
Cells below ovary divide, pushing ovary underground
Fruit ripens into Indehiscent, subterranean legume



Arachis hypogaea
In this picture, find the pericarp, seeds, seed coats



Arachis hypogaea
Label the structures of the seed. 



Arachis hypogaea
Economic importance. 



Arachis hypogaea
1. Severe allergic reactions to peanuts. 

Symptoms: laryngospasm and/or anaphalactic shock. 

2. Contamination with mold Aspergillus flavus (aflatoxin)


